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SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions.

Define positive correlation.

CoflenL o Lar@gri_iL| ~ euanyuim.

State the importance of regression. ,

AsriCuirédlen wadlussiessames ehgjés.

Mention the components of time series.

&TELDFTT Qg,‘r’rgr'rmrﬂsb&uﬂ]siﬂ Qamismer @Bl Ds:

What do you mean by cost of living index? _

ampsass Qswa] GHSG L Sl ifleiGsaman? -

Mention the uses of interpolation.

"o @@ﬁé@&@aeﬂéh uu.qa%rurr@‘a;emmé; GOUAhs.

. Define control quality.

10 s;L@EJun@_'f’méel;rng)J;

What do you mean by Factor Reversal test?

srrenfl i Caia U Sl siflaQeran?

Co- eff1c1ent of correlation- between two Varlables X and Yis 0.48. ‘
Thelr covarlance is 36. The variance of X i is 16, f1nd the standard

dev1at10n of Yseries.

X LDg)gJLo Y aretrp Lorr,@eﬁla;aﬁlml_Gu_lu_mm @L@g)ma; Qasq.g 0.48 %@m
:éqeug)@arr Qs wred), 36 240, X erenp Lorr,rﬁ]eS]u_‘ﬂm Log‘,]uq 16

erafled, Y QgmMeim Sl o . @ﬂmasasgmgas a;mra;é]@a;
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10.

11.

13.°

Calculate byy, if N=7, 5(';§=4.7143, Y =12, X =33,

Y =84, 2X2 = 219 and XY =451.

N=17, X:%:M-m& Y =12, 52X =33, 3Y =84, £X? =219

wpmd XY =451 aafiéd byy -3 samsdl (Hs.

Ip,q, =151, Zpoq(',\.: 49, Zp,q, =430, Zp,q, =130, calculate

. Fisher’s ideal index.

2p19g =151, Tpoqe =49, Zpig, =430, Ip,q, =130 erafled Gagfen
GO eramenamts: semrsd (s

Zpw = 3085, Tw = 22,700, calculate cost of living index.

Zpw =3085, Tw=22700 aafd, ampsms Qswe GALLE

CTERTENGTT HaT&E (D&

Trend equation Y, =4012X, origin 2007, X units = 6 months,

" Y units ="annual production of computers; convert this ‘iir_lto a
. monthly trend equation. :

Gums@ swarun@ Y, =4012X, Gerppd 2007, X swesdr =

6 wrghisdr, Y owgsd = saflaflier aumi e pusd s Qaren(,

wrghHr Curs@E FwemLIM _ig.HE@ WLIHY.
SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Caleulate the coefficient of correlation by Karl Pearson’s method.
X:| 6| 2 (10| 4] 8

Yei 90 1t ? 8 | 7

Arithmetic mean of X and 'Y are 6 and 8 respéctively.

grired Ywitsaflen gl Hney Qspeiamen saméd[Hs.
X:|6| 2 |10]|4]|8
Vi e B B A IS8T

X wpmib Y- sl (& smefl @panpCui 6 bHmd 8 @i
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23. Compute Fisher’s ideal index from the following data and show 14.. -Given the followmg data, calculate the expected value of Y'when

that it satisfies time reversal test and factor reversal test. X=12. : -
: o 1998 ' 1999 | ' £ e
OEIOCILY: : . . TRT _ Average 7.6 | 14.8
Price | Quantity | Price | Quantity ,
Standard deviation | 3.6 2.5
A 4 40 5 50 :
r=20.99
B 8 ‘64 9 80 '
Spsrand eleuriismars Qarar@, Y-er Grélrrurrmss;uu@m wéllienLs
C 10 70 10 7_'0 . X =12 5 QméE0 Gurs) sanss Hs.
D 12 10 4 16 : A=
e uqu,uJé&Gb Qmbs  Gagir flevew GOSLH  eramenanr eﬂ;’rrmﬁ AR
&GOy 81, HTS S@uys CGsiray, smyanf wrHHS Gg,rr@.;a;mm ;_9@5);9614 . S eflaésid 3.6 | 25
Qaiflampaneur ey smawrs. r=0.99
Q e 1998 1999 , , g
CIH(Bisar , ;i . 15.  Briefly explain the merits and demerits of moving average.
aeney Slerey | eflenew 26T6 ¥ rﬂ : ‘ & B I e =
- BpEmW ennsfl erpulen penenio Saosmen FHSELONG 6l aTd:Es.
A 4 40 5 50 ! il ' (8 ]
B 8 64 9 80 16. Calculate the 3 yearly moving average of the data given below :
Years : 1980 | 1981 | 1982 | 1983 | 1984
G 10 70 10 70 St
: _ Sales (Millions): 3 4 8 6 7
D 2 10 4 16 3 )
Years : 1985 | 1986 | 1987 1988 | 1989
24. The values of X and Y are given below: o - ' Sales (Millions): i © 10 L h :
S O o T T WD pEnQsensstar  pEGD  smsfou Spscrl Y
eilleura 5% dseior ()11, ; :
v: |12 13 ] 14 | 16 LIRS Sy
- ‘ ) GU(MHL_LD: 1980 1981 | 1982 | 1983 | 1984
" Find the value of Y when -X'=10 by using Lagrange’s formula. e@priener (Bldeduiaen): 3 4 8 6 7
Xwpgid Y-ei dliysar £Gip Aanpssii Gereren, QUHLLD: 1985 | 1986 | 1987 | 1988 | 1989
X:| 5] 6| 9|11 afipuienar (ewaie): 11 9 10 14 12
Yo 12 | 13 | 14 | 16
- 17.  Construct the cost of living index from the data given below
Xi= 10 eTemd Q;rrew@ -an  Fliemu a)rra;ryrrmm) GSHrsmsL) . Group- Index Number =~ Weights
&
e G lsaead 6 Food - 352 48
Fuel - 220 10
Clothing - © 230 8
Rent g 160 12
Miscellaneous - 190 15
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18.

Sperapd  efleurasmats QsTam() eUTRE®E  oIL_&S GO G
GCTEHTEN T 2_ (U (55.

UMS GO eremr GTaDL_&6iT
o GwTeY 352 48
erfl@umpar ' 220 - 10
L SET 230 8
G)_IWI_GU)BS. : 160 12
@7 Qseeser 190 15

Find the figure of sales for the year 1997 from the data given
below using Binomial expansion method. '

Year: 1991 | 1992 | 1993 | 1994 | 1995 | 1996

Sales (Thousand 120 | 150 | 160 | 180 | 200 | 225
units): :

Speumd  efeurhisemers  Qamaw®  1997-wpb  ya@m@Esman
aflpuemarenw rrmLiy eNfley apanpuled e (g &s.

QU(RLLD : 1991 | 1992 | 1993 | 1994 | 1995 | 1996

eflpuenar (Lulysden): 120 150 160 180 200 225

19.

The following figures give the number of defectives in 20
samples, containing 2000 items.

425, 430, 216, 341, 225, 322, 280, 306, 337, 305, 356, 402, 216,
264, 126, 409, 193, 280, 389, 350.

Calculate ﬁthe values for central line and the control limits for
p chart. (Fraction defective chart)

2000 Qur@tsefld, 20 wrdfsefler @epuT@erar Qurr@l'_é;éﬂe'ur
eramramtigana G QarHEsLiLl_ [ ereren :

425, 430, 216, 341, 225, 322, 280, 306, 337, 305, 356, 402, 216,
264, 126, 409, 193, 280, 389, 350.

D Gar_( UL 380G mmu.x@urr_&s@ Gam( hmib s_Hurh erebenavsafen
gl samsd[Hs.
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SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

20. Define correlation. Explain the methods of correlation.
U Hne] cueywm. Goeib @L;@;[I)Gfﬂﬁiﬂ' uamEsameT ollaTsGs.
21. Ten competitors in a beauty contest are ranked by the three
_ judges in the following order :
| First judge: 1|5 |4|8)|9 )| 6 10 | 7 | 3 | 2

Secondjudge: |4 | 8 | 7 |6 |5 | 9 10 | 3|2 |1

Third judge: 6| 7|8|1|5|10[9 |[2]|3]4

Use the rank correlation coefficient to discuss which pair of
judges have the nearest approach to common tastes in beauty.

wain pHusear @f @ipE Cumiyuid LRl Qupp LS
QuansErsE Weamau@pwrn LA kiseT QasrOssant. abs @Ten®
BALEEREE Sipams FELILSD SaD RES ST 2 GT6Tg) GTETLIMS
&7 2 L an@amrLiy Qapemes LweTUHSE sSreamrs.

Wps® SHUS : 1|5|4|8|9| 6 |10]7]3]2

Grammbgfug: |4 |8 | 7|6 |5| 9 |10[3|2]|1

ewanpid BHLS : 6781|5109 |2][3]4

22.

Compute the trend values by the method of least squares from
the data given below :

Year:

1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999

Profits (Rs. 56 | 55 | 51 | 47 | 42 | 38 | 36 | 32

lakhs):

8Gyp Qar@ssiulHdrar Letefl ellaurhis@nés Gon5S gynefl eunés
wpevmuder epaid GLTEE Camemi sam® ..

QU(RLLD 1992 | 1993 | 1994 | 1995 | 1996 | 1997 | 1998 | 1999

@emutd (e, 56 55 51 | 47 42 38 35 32

@l s5HD):
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